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1.25mm 12-Pin +VCC+GND Cable For PNP Output V07

1.25mm 12-Pin
1 INPUT5/STANDBY | BROWN AND WHITE Typical Connection
2 SHIELD YELLOW AND WHITE
3 QUTPUT COM+ PINK
4 OUTPUT1 PURPLE e
5 QUTPUT2 GRAY i -¥
6 OUTPUT3 LIGHT BLUE T e
7 OUTPUT4 YELLOW [NPUT 15| | — § —
8 N.C. BROWN o |
9 INPUT4 ORANGE FC“‘T“‘* i -
10 INPUT3 BLUE | ™M T
1 INPUT2 WHITE |1
12 INPUT1 GREEN -
outpuT com+ | [T
Naked wire +] DC0~28v
VCC RED /O POWER SUPPLY E ]:¥ T
VCC RED AND WHITE 2 OUTPUT 1~4_| i s MCU IN LIDAR]
GND BLACK Current Limit Resistor E
GND | BLUE AND WHITE = S

Note: INPUT should be Hr-Z or GND
Qutput Drive capability DC30V 50mA MAX

RED (VCC)

PNP wiring diagram

RED AND WHITE (VCC)

® +24V VCC

BLACK (GND)

power
supply

BLUE AND WHITE (GND)

* 0V GND

BROWN AND WHITE (INPUT5/STANDBY)

YELLOW AND WHITE (SHIELD)

PINK (OUTPUT_COM+)

[K1][k2][K3]

PURPLE (OUTPUT 1)

GREY (OUTPUT 2)

LIGHT BLUE (OUTPUT 3)

YELLOW (OUTPUT 4 ERROR OUT)

BROWN (N.C.)

ORANGE (INPUT 4)

BLUE (INPUT 3)

WHITE (INPUT 2)

GREEN (INPUT 1)

OUTPUT 1

Example:

OUTPUT 2

OUTPUT 3




1.25mm 12-Pin +VCC+GND Cable For NPN OQutput VO7

1.25mm 12-Pin
1 INPUTS/STANDBY _| BROWN AND WHITE Typical Connection
2 SHIELD YELLOW AND WHITE
3 OUTPUT COM- PINK
4 OUTPUT1 PURPLE S
5 OUTPUT2 GRAY i -{
6 OUTPUT3 LIGHT BLUE i |
7 OUTPUT4 YELLOW INPUT 1-5] | ¥:
- L ol F(Jment I _|=_
9 INPUT4 ORANGE L
10 INPUT3 BLUE
Ll INPUT2 WHITE L
b INPUT1 GREEN )
Naked wire [ ourPuT 14 5 T
vee RED + | DCo-28¢v Current Linut Resistor i = - @
VCC RED AND WHITE 1/0 POWER SUPPLY |
GND BLACK _ OUTPUT COM- i
GND BLUE AND WHITE = i

Note: INPUT should be Hi-Z or GND
Output Drive capability DC30V 50mA MAX

NPN wiring diagram

RED (VCC)
RED AND WHITE (VCC)

+24V VCC

power

BLACK (GND
( ) * OVGND  supply

BLUE AND WHITE (GND)
BROWN AND WHITE (INPUT5/STANDBY)

YELLOW AND WHITE (SHIELD) [K1][K2]

PINK (OUTPUT_COM+)

PURPLE (OUTPUT 1)

GREY (OUTPUT 2)
LIGHT BLUE (OUTPUT 3)

YELLOW (OUTPUT 4 ERROR OUT)

BROWN (N.C.) Example: OUTPUT 1

ORANGE (INPUT 4)

BLUE (INPUT 3)

WHITE (INPUT 2) OUTPUT 2
OUTPUT 3

GREEN (INPUT 1)
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